1 cmMeHa 2 cMeHa
BpeMs la 10 1B 30 BpeMs 2a 2B 4a 4B
T 8.00-8.35  [/UT.UT. JIUT.4T. MaTEM. Pus-pa Jl02UKa
= 2 8.45-9.20 pyc.s3. pyc.s3. dus-pa MaTeM. 1 | 13.40-14-15 |¢pwu3-pa MaTeM. MaTeM. MaTeEM.
2 3] 9.35-10.10 |marem. ¢busz-pa JIMT.YT. pyc.s3. 2 | 14.25-15.00 |pyc.s3. ¢busz-pa pyc.s3. JIUT.YT.
QEI 4] 10.25-11.00 |Pus-pa MaTeM. pyc.s3. aHIJLSA3. 3 | 15.15-15.50 |marem. pyc.s3. ¢usz-pa pyc.s3.
s 5| 11.15-11.50 (|rocuxa J02UKA JI02UKA JIUT.YT. 4 | 16.05-16.40 |oxp.mup uT. Ut JIUT.YT. buz-pa
E 6] 12.05-12.40 Xy0 Me-60 5 | 16.55-17.30 np. Xopoe.
7 6 | 17.35-18.10
8
1 8.00-8.35 JIUT.YT. MaTeM. JIUT.YT. MaTeM. npaszo.xop. |yp.oyx.
2 8.45-9.20 [pyc.s3. JINT.YT. pyc.s3. pyc.s3. 1 | 13.40-14-15 |matem. MaTeM. aHTJLS3. ¢dus-pa
y 3] 9.35-10.10 [marem. pyc.s3. OKp.MUp  |JUT.MT. 2 | 14.25-15.00 |anrm.ss. pyc.s3. busz-pa aHTILS3.
= 4] 10.25-11.00 |okp.mMup |Ookp.MuUp [maTeMm. OKD.MUD 3 | 15.15-15.50 |dwuz-pa aHTJL 3. pyc.si3. pyc.s3.
E" 5| 11.15-11.50 [|xyo.me-6o |a-uccneo. |npazo.xop. (xop 4 | 16.05-16.40 |pyc.a3. ¢buz-pa MaTeM. MaTeM.
= 6] 12.05-12.40 uno 3an.  |xyo.me-6o |yp.oyx. 5 | 16.55-17.30 |awut.ur. JIUT.YT. OKp.MHP OKpP.MHP
7 6 | 17.35-18.10
8
1 8.00-8.35 bus-pa MaTeM. JIUT.YT. MaTeM. Yypoku oyx. |ypoku oyx. Xy0.me
2 8.45-9.20 JIUT.YT. ¢buz-pa pyc.s3. pyc.s3. 1 | 13.40-14-15 [pyc.s3. N30 pyc.s3. pyc.s3.
3] 9.35-10.10 [pyc.s3. JIUT.YT. buz-pa JIUT.YT. 2 | 14.25-15.00 |matem. MaTeM. N30 MaTeM.
% 4] 10.25-11.00 [marem. pyc.s3. MaTeM. pUTMHKA 3 | 15.15-15.50 |awut.ur. pyc.s3. MaTeM. N30
6- 5] 11.15-11.50 |TexHOJIOT. |TE€XHOJIOT. |TeXHOJIOT. |TEXHOJIOT. 4 | 16.05-16.40 |130 OKpP.MHP JIUT.YT. OKpP.MHP
6] 12.05-12.40 wo.me-cos-uceieo. |5 | 16.55-17.30 JT. YT TEXHOJIOT ~ |TEXHOJIOT.
7 6 17.35-18.10 Xy0.m6-60/s -uccn  WLOSUKA/S- UCCT
8
1 8.00-8.35 pOX.s3. MaTeM. 30 aHTII.A3. Jlo2UKd s-uccneo. No2UKd np. X0poe.
2 8.45-9.20 [marem. N30 poJLs3. MaTeM. 1 | 13.40-14-15 |matem. MaTeM. MaTeM. MaTeM.
. 3] 9.35-10.10  |auT.uT. poa.sI3. MaTeM. N30 2 | 14.25-15.00 |pyc.s3. pyc.s3. pyc.s3. pyc.s3.
? 4] 10.25-11.00 (130 JIUT.YT. JIUT.YT. pyc.s3. 3 | 15.15-15.50 |awurt.ur. OKpP.MHP OKp.MHP JIUT.YT.
5 5] 11.15-11.50 |s-uccneo. |npaso.xop. |ypoku Oyx |mUT.M™T. 4 | 16.05-16.40 |oxp.mup JIUT.YT. JIUT.YT. pUTMHKA
= 6] 12.05-12.40 |npazo.xop . |uno san. npazo.xop. 5 | 16.55-17.30 |T€XHOJIOT. |TE€XHOJIOT. |pUTMHKA
7 6 | 17.35-18.10
8
1 8.00-8.35 pUTMHKA |OKp.MHp [My3bIKa (pu3-pa npazo.xop. |pyc.s3.
2 8.45-9.20 pyc.si3. pUTMHKaA [pyc.s3. MY3bIKa 1 | 13.40-14-15 |purmuka |aHTILS3. aHIJI.513. pyc.s3.
- 3] 9.35-10.10 |my3bIKa pyc.si3. pUTMHUKA |[OoKp.Mup 2 | 14.25-15.00 |anHrm.ss. pUTMHUKA MY3bIKa aHTJLS3.
E 41 10.25-11.00 |oxkp.mup |My3bIKa OKp.MHUD  |pyC.i3. 3 | 15.15-15.50 [pyc.a3. MYy3bIKa pyc.s3. OPKCD
= 5| 11.15-11.50 |ypoxu oyx. |ypoxu Oyx |a- uccuneo. |rozuxa 4 | 16.05-16.40 |my3bIKa Xy0 me-60 OPKCD JIAT.YT.
= 6] 12.05-12.40 uHo 3aH.  |xop 5 | 16.55-17.30 |xyo.ms-60 MYy3bIKa
7 6 | 17.35-18.10 Vp.OYX.
8




1 cmeHa 2 cMeHa
BpEMsI Ir In 3a 3B BpeMs 20 2r 40 4r
T 8.20-8.55 |MareMm. MYy3bIKa aHIJLS3. JIUT.YT.
= 2 9.10-9.45 |my3bIKa MaTeM. pyc.s3. AHTJL53. 1 | 14.00-14.35 |matem. JIUT.YT. pyc.s3. AHTJL53.
% [ 3] 10.00-10.35 |mwut.uyr. JIUT.YT. MY3bIKa pyc.s3. 2 | 14.50-15.25 |my3bika MaTeM. aHTJL.5I3. MaTeM.
§ 4 | 10.50-11.25 |pyc.s3. pyc.s3. OKp.MHP MYy3bIKa 3 | 15.40-16.15 |pyc.a3. MYy3bIKa MaTeM. pyc.si3.
£ | 5| 11.40-12.15 |xyo.ms-60 _ |n02uxa JIUT.YT. JI02UKA 4 | 16.30-17.05 |oxp.mup pyc.s3. MY3bIKa JIUT.YT.
é: 6 | 12.30-13.05 npazo.xop. s-uccieo. 5| 17.20-17.55 [mur.yT. JI02UKA MY3bIKa
7 6 s-ucciueo.
8
1 8.20-8.55 |muT.uT. JIUT.UT. (huz-pa pyc.s3. Xy0.me-60  |xy0.me-60 Vp.OYX.
2 9.10-9.45 |pyc.a3. pyc.s3. pyc.s3. dus-pa 1 | 14.00-14.35 |pyc.s3. MaTeM. MaTeM. pPUTMHKA
« [ 3] 10.00-10.35 |dwu3-pa MaTeM. MaTeM. MaTeM. 2 | 14.50-15.25 [marem. pyc.s3 pyc.s3. MaTeM.
| 4| 1050-11.25 |oxp.mup. buz-pa JIUT.YT. OKp.MUD 3 | 15.40-16.15 [mwur.yT. JIUT.YT. JIUT.YT. pyc.s3.
§‘ 5 | 11.40-12.15 |nocuxa/ npass-uccieo. TEXHOJIOT.  |JIUT.4T. 4 | 16.30-17.05 |aHrLA3 OKp.MHUP OKp.MUD OPKCD
= | 6| 12.30-13.05 Vp.oyx ypoxu oyx.  |yp.oyx 5| 17.20-17.55 aHIJLA3. TEXHOJIOT. JIUT.YT.
7 6 np.X0poBoo
8
1 8.20-8.55  [nwur.uT. MaTEM. OKpP.MUD pyc.s3. ypoku oyx.  |ypoxu 0yx. [xyo.ms.
2 9.10-9.45 |pyc.a3. JIUT.YT. N30 MaTeM. 1 | 14.00-14.35 |matem. MaTeM. MaTeM. dus-pa
3 | 10.00-10.35 |HU30 pyc.s3. pyc.s3. JIUT.YT. 2 | 14.50-15.25 [pyc.a3. pyc.s3. ¢buz-pa MaTeM.
% 4 | 10.50-11.25 |matem. N30 MaTeM. TEXHOJIOT. 3 | 15.40-16.15 [muT.yT. bus-pa pyc.s3. pyc.s3.
6- 5 | 11.40-12.15 [putmuka OKp.MHP JIUT.YT. N30 4 1 16.30-17.05 |[dwuz-pa JIUT.YT. OPKCD OKpP.MHP
6 | 12.30-13.05 Xy0.me-80  |xy0.me X)0.me-60 5 | 17.20-17.55 |oxp.mup TE€XHOJIOT.  |JIMT.YT. XY0.m8-60
7 A-uccieo. 6 JI02UKA
8
1 8.20-8.55 (us-pa MaTeM. pyc.s3. pyc.ss3. s-uccreo. np. xopos./A- ucdnoeuxa/ A - uccn
2 9.10-9.45 |pon.s3. bus-pa aHTILS3. MaTeM. 1 | 14.00-14.35 |matewm. dus-pa MaTeM. AHTJLA3.
~ | 3] 10.00-10.35 [marem. pO.SI3. pUTMHUKA aHTJL 3. 2 | 14.50-15.25 |buz-pa OKpP.MHUP aHTJLS3. pyc.s3.
? 4 | 10.50-11.25 [nuT.ur. JIUT.UT. MAaTEM. pUTMHUKA 3 | 15.40-16.15 |pyc.s3. pyc.s3. pyc.s3. buz-pa
5| 5| 11.40-12.15 |ypoxu oyx JI02UKA OKp.MHP 4 1 16.30-17.05 [muT.uT. MaTeM. ¢busz-pa MaTeM.
= [6 12.30-13.05 np.Xxopoeoo |np.xop. 5 17.20-17.55 |TexHOIIOT. JIUT.YT. JIUT.YT.
7 6
8
1 8.20-8.55 |oxp.mup. pyc.s3. pyc.s3. MaTeM. npaszo.xop. VpOKU OyX np.xXopoe.
2 9.10-9.45 |pyc.s3. OKp.MHP ¢buz-pa pyc.s3. 1 | 14.00-14.35 [pyc.s3. N30 OKD.MHP pyc.s3.
< | 3 | 10.00-10.35 [matem. TEXHOJIOT.  [JIUT.YT. buz-pa 2 | 14.50-15.25 130 pyc.s3. pyc.s3. OKp.MHUD
S | 4| 1050-11.25 |rexmouor. PUTMHKA MaTeM. JIUT.YT. 3 | 15.40-16.15 |aHriss. pPUTMHKA JIUT.YT. N30
E 5| 11.40-12.15 |a- uccreo. 4 | 16.30-17.05 |puTmuxa AHIJLA3. N30 TEXHOJIOT.
= | 6| 12.30-13.05 5 | 17.20-17.55 |nocuxa PUTMHKA
7 6
8




